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x(t) = cos t , y(t) = sin
t(1 − t)

6
, z(t) =

12t

t + 6
,
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∫

2π

0

√

x(t)2 + y(t)2 + z(t)2 dt
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f(x, y) =

x2 + y2 + px
√

1 + (x + 2y)2 + (x − y)2

1\H]� m

f1(p) = det







1 2 p

−1 2 −1
2 −5 4





 , f2(p) = det
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f3(p) = det
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f1(p), f2(p), f3(p)
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> with(LinearAlgebra):
> A:=<<1,3,4>|<2,t,-2>|<2,-1,3>>;

 := A
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3 t -1

4 -2 3
> Determinant(A);

− −5 t 40
> B:=subs(t=-8,A);

 := B













1 2 2

3 -8 -1

4 -2 3
> ColumnSpace(B);
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> v1:=<5,-13,0>; v2:=<5,-12,0>;

 := v1
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 := v2
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> LinearSolve(B,v1); LinearSolve(B,v2);
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Error, (in LinearAlgebra:-LA_Main:-LinearSolve) inconsistent system
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f(θ) = Trace(MMT )
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M = A

(

cos θ sin θ

− sin θ cos θ

)

−

(

cos θ sin θ

− sin θ cos θ

)

B
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f(x, y) =
1

1 + x2 + y2
, g(x, y) = x2 + 2y2 + xy − y

f (shaded surface) and g (unshaded surface)
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f (r(θ) cos θ, r(θ) sin θ) = g (r(θ) cos θ, r(θ) sin θ)
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r(θ)
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F (θ) = f (r(θ) cos θ, r(θ) sin θ)

n
F (θ) b � r(θ)
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f(x, y) > g(x, y)
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∫ ∫

D

(f(x, y) − g(x, y)) dxdy

�
f(x, y) > g(x, y)
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